MW AN X

NS

SEATRRERS!
PNEUMATIC ACTUATORS SERIES

LR FEIEiE K

Trust Comes From Quality

ML XEB AR AS]
ZHEJIANG MINTN TECHNOLOGY CO.,LTD.

k. ATREMTREEL T XRFEE14665
B, 0577-55559888

f£H. 0577-55559886

BB%S. tank@mintn.com

Http: //www.mintn.cn www.mintn.com

Add: No.1466, Tianzhong Road, Dushan, Yongzhong Street,
Longwan District, Wenzhou, Zhejiang, China

Tel: +86-577-55558668

Fax: +86-577-55558998

E-mail: mandy@mintn.com

Http: //www.mintn.com  www.mintn.cn

[=]
o
]

41

[

Scan To Website

I EXEBAIRAS]

ZHEJIANG MINTN TECHNOLOGY CO.,LTD.

2020 hiz




www.mintn.cn

F=687T48 Product description

O 15=E8 Indicator
NAMURFREI S ReMET TR ETT R, ERIESEM14E,

Position indicator with NAMUR is convenient for
mounting accessories such as Limit Switch box,Positioner

© JEE Pistons

WRZERSR, RAFEERAMWEEFNETLE | RMNE

XIFR, BIFRUE. EREBK , BRAIEREET LSRN

F3TE, e
The twin rack pistons are made from Die-casting aluminum

treated with hard anodized or made from cast steel with R

galvanization.Symmetric mounting position,long cycle life
and fast operation,reversing rotation by simply inverting the

O 5% Pinion

RRESWN. SHE —EURHERRAFENAMUR, 1SO5211
. DIN3337#xiE, mItRIER PEXREH RIFIAGEREEL

The pinion is high-precision and integrative,made from
nickelled-alloy steel,full conform to the lastest standards of

ISO5211,DIN3337,NAMUR.The dimensions can be customized
and the stainless steel is available.

72T
Travel adjustment

O 17f8FT5 Travel adjustment

PR A TAEE IR T AT LA T 75 (55 + S RO B R ALE.

The two independent external travel stop adjustment bolts
can adjust +5° at both open and close directions easily and
precisely.

® Ik Actuator Body

ASTM6005EFtRE SR LURFIEREN, RERIEER
(RIEEREGR=6. B8, "H6F) . PTFERESEIERE
REER,

According to the different requirements,the extryded
aluminum alloy ASTM6005 Body can be treated with hard

anodized,powder polyester painted (different colours is
available such as blue,orange,yellow etc.),PTFE or Nickel plated.

=488 E High performance springs

RN, RELE, EEE. BEERETEIRIE

(EF%5a. RETEIRER. EERAVIRENRIERIVTRR BT HE

HEREAS , FRSERLEE, -
Preloaded coatingsprings are made from the high quality = % %
material for resistant to corrosion and longer service life % %

which can be , demounted safely and conveniently to

satisfy requirement of torque by changing quantity of springs.

O imE= End caps

EHEE RSB ARBRSMEE. PTFEREEGRELE,

Die-casting aluminum powder polyester painted in
different colours,PTFE or Nickel plated.

IS

O &, S4R Bearing & Guides

RAEER KEBEEVH  BRTEESSENEREM
HHZEIRERTE.
Made from low friction,long-life compound material,to avoid

the direct contact between metals. The maintenance and
replacement are easy and convenient.

Il

© ZE# O-rings

TR ELIEFRETERTBBREEER -20°C~+80°C
TEeRERRBBRIEER:-15°C~+150°C

R FERERRIEEZ:-60°C~+80°C

Temperature conditions to use NBR:-20°C~+80°C

In High temperature conditions to use Viton:-15°C~+150°C
In Low temperature conditions to use Silicone:-60°C~+80°C

12



i3

www.mintn.cn

ZF0ME Parts and Material

| —

R

4 e
| 22 202118 S0
¢ T ;s
(T 24 11
25
\
Co>—12

|ltln(«(1
ot

(1

=
-
=
-
-
-
—
—

2% Parameters

Fs R s e a)ispisEd EIprizp e
1 e ERIRET 1 2Bk
2 Eisvn 1 B8
3 i 1 REEN
4 EEBEH 1 TEEN
5 SRR 1 TigEH
6 FARZN 1 iy BEREl
7 RER 1 T2t
8 Rt 1 aEW
9 OB 1 THEIRER AR /FER AR
10 TR 1 Tie%K
11 i 1 aEW it TEEW
12 TR 1 T2t
13 THIORLE 1 TEEIRAR FUARR /BRI
14 ESS 2 THEIRAR AR /FEIRAR
15 pIEREY Y ORIl 2 THIRR AR/ FEIRER
16 23S 2 TEEW
17 TR 2 TN
18 THEE 2 [E%RE ERak
19 TEESIR 2 Ti2®K
20 TEELRIEE 2 TizsEs
21 JEEORE 2 THEIRER FURK /BRI
22 SR 0-12 XMz 2%
23 ORI 2 T SRR IR /FEAR AR
24 I 2 E%8EE ¥RBUA
25 Ui i X E iR 8 TEEW
NO. Description Qty Standard Meterial Protection Optional Meterial
1 Indicator screw 1 Plastic
2 Indicator 1 Plastic
3 Axis block 1 Stainless steel
4 Metal gasket 1 Stainless steel
5 Outside washer 1 Engineering plastics
6 Body 1 Aluminum Hard anodized etc
7 Inside washer 1 Engineering plastics
8 Cam 1 Alloy steel
9 Bearing(Pinion top) 1 NBR Viton/Silicone
10 Shaft support ring 1 Engineering plastics
11 Axis 1 Alloy steel Nickel plated Stainless steel
12 Lower shaft support ring 1 Engineering plastics
13 Bearing(Pinion bottom) 1 NBR Viton/Silicone
14 Plugs 2 NBR Viton/Silicone
15 O-ring (Adjusting bolt) 2 NBR Viton/Silicone
16 Screw nut 2 Stainless steel
17 Adjusting bolt 2 Stainless steel
18 Piston 2 Die-casting aluminum Hard anodized etc
19 Piston guides 2 Stainless steel
20 Piston supportring 2 Engineering plastics
21 O-ring (Piston) 2 NBR Viton/Silicone
22 Spring 0-12 Spring steel Dip coating
23 Plug 2 NBR Viton/Silicone
24 End cap 2 Die-casting aluminum Powder polyster painted etc
25 End cap fastening bolt 8 Stainless steel

14



www.mintn.cn

T{E/EE Operating Principle

SHEMHIITEE Double Acting Actuators

CCW (Standard)

IIAII ﬂ t IIBII

90° open

0° close

AQ#S, ERZSHEMNEERINE, ERTRR
HAERSEH iR (0°—90°), BOHFS. BO#S, £
R SHEMEERMISE, EHITRRE HHhIRET £ e
#(90°—0°), AOHFS.

Air to Port A forces the pistons outwards, causing the
drive shaft to turn counterclockwise while the air is being
exhausted from Port B. Air to Port B forces the pistons
inwards, causing the drive shaft to turn clockwise while
the air is being exhausted from Port A.

EA{ERRHI1TEE Spring Return Actuators

FC-CCW (Standard)

IIAII t u IIB“

0° close

AQ#S, Bz SRR, EsEEmINED],

WITRRM TR ET52)(0°>90°), BOHFS, #UT
BRES, EEEEENNFATRRE, PUTRE

iR EHEEE(90°—0°), ACHES.

Air to port A forces the pistons outwards, causing the
springs to compress, The drive shaft turns counterclock-
wise while air is being exhausted from port B. Loss of air
pressure on port A, the stored energy in the springs forces
the pistons inwards. The drive shaft turns clockwise while
air is being exhausted from port A.

I5

cw

l!Al! ﬂ t IIB"

R

90° open 0° Close
AD#S, FaSENEERINGE, EHRITHRR
HEHIRE TR (90°—0°), BOAFS. BO#S,
T SHEEREMIEE, EHTRE SR iE
#%(0°—90%), AOHFS.

Air to Port A forces the pistons outwards, causing the
drive shaft to turn clockwise while the air is being
exhausted from Port B. Air to Port B forces the pistons
inwards, causing the drive shaft to turn counterclockwise
while the air is being exhausted from Port A,

AO#S, ER=S5RREED, EhEERINE,
HATER M IR T 3%50(90°—0°), BOHES,; HiT
MRS, EEEEENNFERTRARNES, HUTRE
HimEREHEEN(0°—90°), AHES.

Air to port A forces the pistons outwards, causing the
springs to compress, The drive shaft turns clockwise
while air is being exhausted from port B. Loss of air
pressure on port A, the stored energy in the springs forces
the pistons inwards. The drive shaft turns counterclock-
wise while air is being exhausted from port A.

VYEAHILIZE Output Torque Of Double Acting Actuators

A Output Torque

Tt np ]
Rotation
171
-
0° 45° 90°
Unit:Nm
. SIRIESAIr supply pressure(Unit:bar)

ESModel 25 3 4 45 5 55 6 7 8
DA-32 3 4 5 6 7 8 8 9 11 12
DA-40 5 6 7 10 11 12 13 14 17 19
DA-52 8 10 12 16 18 20 22 24 28 32
DA-63 15 18 22 29 33 36 40 44 51 58
DA-75 20 25 30 40 45 50 55 60 70 80
DA-83 31 39 47 63 70 78 86 94 110 125
DA-92 45 56 68 90 102 113 124 135 158 181
DA-105 66 83 99 132 149 165 182 198 231 264
DA-125 100 125 150 200 226 251 276 301 351 401
DA-140 171 214 256 342 385 427 470 513 598 684
DA-160 266 332 399 532 598 665 731 798 931 1064
DA-190 426 532 638 851 958 1064 1170 1277 1490 1702
DA-210 532 665 798 1064 1197 1330 1463 1596 1862 2128
DA-240 769 962 1154 1539 1731 1924 2116 2308 2693 3078
DA-270 1170 1462 1754 2339 2632 2924 3216 3509 4094 4679
DA-300 1526 1908 2289 3052 3434 3815 4197 4578 5341 6104
DA-350 2285 2856 3427 4570 5141 5712 6283 6854 7997 9139
DA-400 3256 4070 4884 6512 7326 8140 8954 9768 11396 | 13024
XU EFRHATRRAYEEY © _ ‘

FEIERERERET , BT ERNEZ £ 5 EI20%-30%,
Bl
i 1/3%E=100Nm
L2 HE=100x ( 1+30% ) =130Nm
SiIgESI=5Bar
B ERIRERR | IRECXUEBI TR R/ W& A DA 105,
Sizing:Double Acting Actuator
The suggested safety factor for double acting actuators under
normal working conditions is 20%-30%.
Example:
The torque needed by valve=100N-m
The torque considered safety factor(1+30%)=130N-m
Air Supply=>5Bar
According to the above table,we can choose the minimum model is DA105.
16



www.mintn.cn

AL

N R

MINTN TECH

B{EM#MENIE Output Torque Of Spring Return Actuators

Output Torque

L TfaapAp i

Output Torque
Lty Ry iE]

Unit:Nm

IHAXEOuUtput torque of air to springs

Springs’ output

Rotation Rotation
1712 (PLES
0° 45° 90° 0° 45° 90°
Unit:Nm
HH#H%EOutput torque of air to springs Springs' output
= FAir pressure 2.5BAR 3BAR 4BAR SBAR 6BAR 7BAR 8BAR
ru=Model |SPNg | O° 90° 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 0° 90° | 90° 0°
= Qty. | start End Start End Start End Start End Start End Start End Start End Start End
SR-40 K2 |13 27 50 14 75 3.1 98 45 7.5 48
K5 | 5.7 38 76 57 6.2 43
K6 | 49 |25 6.9 45 109 | 85 74 5.0
K7 |40 |13 6.0 33 9.3 73 140 | 104 36 59
sy | K8 52 2.0 9.2 6.0 132 | 91 172 | 141 9.9 6.7
K9 43 0.8 8.3 4.8 123 | 79 163 | 128 | 203 | 168 111 | 76
K10 7.4 3.6 115 [ 6.7 155 | 116 | 195 | 156 124 | 85
K11 6.6 23 106 | 54 146 | 104 | 186 | 143 | 226 | 183 | 136 | 93
K12 97 42 138 | 91 178 | 122 | 218 | 171 | 148 | 102
K5 | 114 | 7.7 150 | 114 223 | 149 104 | 68
K6 | 101 | 57 136 | 93 209 | 166 | 283 | 239 125 | 82
K7_| 86 36 125 | 7.2 195 | 145 268 | 21.9 146 | 96
K8 109 | 5.1 182 | 124 | 255 | 198 328 | 270 | 401 | 343 167 | 109
SR-63  [Tg 168 | 104 | 241 | 177 | 314 | 249 | 387 | 322 188 | 123
K10 14 8.2 228 | 156 | 300 | 228 | 373 | 301 | 447 | 374 | 209 | 13.7
K11 215 | 135 | 287 | 207 | 360 | 280 | 433 | 353 | 229 | 150
K12 200 | 114 | 273 | 186 | 346 | 259 | 419 | 333 | 250 | 164
K5 | 145 | 106 | 194 | 155 295 | 257 145 | 105
K6 | 124 | 76 173 | 126 274 | 227 | 375 | 328 174 | 127
kK7 | 104 | 48 152 | 97 253 | 199 354 | 299 203 | 148
SR-75 ks 131 | 6.8 231 | 169 333 | 270 | 432 | 370 533 | 470 232 | 169
K9 210 | 141 312 | 241 | 411 | 341 | 512 | 442 261 | 19.0
K10 190 | 111 | 288 | 212 390 | 312 | 491 | 412 | 591 512 | 290 | 211
K11 270 | 183 370 | 283 | 470 | 384 | 570 | 484 | 319 | 232
K12 249 | 154 | 349 | 254 | 449 | 354 | 549 | 454 | 347 | 253
K5 [233 | 161 | 311 | 240 468 | 397 230 | 158
K6 | 201 | 115 | 280 | 193 437 | 351 594 | 507 276 | 19.0
K7 [ 170 | 69 248 | 1438 405 | 305 562 | 46.2 322 | 221
SR-83 | K8 217 | 10.1 374 | 258 531 | 415 688 | 572 | 845 | 729 368 | 253
9 342 | 213 | 499 | 37.0 65.6 | 52.6 | 812 | 683 414 | 285
10 310 | 166 | 467 | 32.3 624 | 480 | 781 | 63.7 | 938 793 | 460 | 316
11 436 | 277 593 | 434 | 750 | 59.1 | 906 748 | 506 | 34.8
K12 204 | 232 561 | 389 | 717 | 545 | 8/4 | 702 | 552 | 380
K5 | 331 | 220 | 442 | 332 | 668 | 559 344 | 233
K6 | 284 | 152 | 396 | 264 | 622 | 490 | 848 | 716 412 | 280
K/ | 238 | 82 349 | 194 | 575 | 421 80.2 | 64.7 481 | 32.7
SR-92 | K8 313 | 126 | 529 | 352 755 | 57.9 981 | 805 | 120.7 | 103.0 550 | 373
9 482 | 284 | 709 | 5L0 93.5 | 73.6 | 1160 | 96.1 61.9 | 42.0
10 436 | 215 66.2 | 44.1 88.8 | 667 | 1113 [ 89.2 | 1340 | 1118 | 68.7 | 467
11 615 | 37.2 841 | 599 | 1066 | 824 | 129.2 | 1050 | 756 | 514
K12 568 | 304 | 794 | 530 | 1019 | 755 | 1245 | 981 825 | 56.0
K5 | 510 | 334 | 675 | 499 | 1006 | 83.0 492 | 316
K6 | 447 | 235 | 611 | 400 | 942 | 732 1273 | 106.2 591 [ 38.0
K7 [ 384 | 137 | 549 | 303 | 8/9 | 634 121.0 | 964 68.9 | 44.3
SR-105 | K8 485 | 204 | 816 | 535 1147 | 86.5 | 1477 | 1196 | 1808 | 152.7 787 | 506
K9 753 | 43.7 1084 | 768 | 1415 | 109.8 | 174.5 | 1429 886 | 569
K10 689 | 334 | 1020 | 665 | 1351 | 99.6 | 168.2 | 132.6 | 2012 | 165.7 | 984 | 63.3
K11 957 | 570 | 1287 | 901 | 161.8 | 123.1 | 1948 | 156.2 | 1083 | 69.6
K12 894 | 475 | 1225 | 80.6 | 1555 | 113.6 | 1886 | 146.7 | 1181 | 759
K5 | 73 47 98 72 148 122 79 52
K6 | 63 31 38 56 138 107 188 157 94 63
K7 |52 15 77 40 127 | 90 178 141 110 | 73
SR-125 | K8 67 25 117 | 75 167 125 217 | 176 268 | 226 125 84
K9 107 59 157 109 207 | 159 257 | 210 141 | 94
K10 96 a4 146 94 196 | 144 247 194 297 | 245 157 105
Kil 136 78 186 | 128 236 | 178 286 | 228 173 115
K12 125 63 176 | 113 226 | 163 276 | 213 188 125
17

IS FEAIr pressure 2.5BAR 3BAR 4BAR SBAR 6BAR 7BAR 8BAR
- Spring| 0° 90° | 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 0° 90° | 90° 0°
AEModel Qty.
Start End Start End Start End Start End Start End Start End Start End Start End
Ks | 128 | 85 171 127 256 | 213 129 | 86
K6 | 111 | 59 154 102 239 | 187 325 273 155 | 103
K7 | 94 33 137 | 76 222 | 162 308 | 247 181 | 120
SR-140 | K8 120 50 205 | 136 291 221 376 | 307 | 462 392 206 | 137
K9 187 | 110 273 196 358 | 281 | 444 367 232 | 155
K10 170 | 84 256 169 341 | 255 | 427 340 | 512 | 426 258 | 172
K11 238 143 324 | 229 | 409 314 | 495 | 400 284 | 189
K12 221 118 307 | 203 392 289 | 478 | 374 310 | 206
Ks | 193 | 124 259 | 191 392 | 324 208 | 140
K6 | 165 | 83 232 | 149 365 | 282 498 | 415 250 | 168
K7 | 137 |41 203 | 107 336 | 240 469 373 292 | 196
K8 176 | 66 309 | 199 442 237 575 465 | 708 | 598 333 | 223
SR-160 [ K9 280 | 157 213 290 546 | 423 | 679 | 556 375 | 251
K10 253 | 115 386 | 248 519 381 | 652 514 | 785 | 647 417 | 279
K11 358 | 207 491 340 | 624 | 473 | 757 | 606 458 | 307
K12 330 165 463 298 596 | 431 | 729 | 564 500 | 335
Ks | 332 | 222 238 | 329 651 | 542 309 | 200
K6 | 292 | 161 398 | 267 611 | 480 824 | 693 371 | 240
K7 | 252 | 99 358 | 205 571 | 418 784 | 631 433 | 280
K8 318 | 143 531 | 356 744 569 957 | 782 1169 | 995 495 | 320
SR-190 Tyg 491 295 704 507 917 720 1130 | 933 557 360
K10 451 | 233 664 | 446 877 658 | 1090 | 871 1302 | 1084 618 | 400
K11 624 384 837 597 | 1050 | 809 1263 | 1022 680 | 440
K12 584 322 797 535 1010 | 748 1223 | 960 742 | 480
Ks | 390 | 285 523 | 418 789 | 684 380 | 275
K6 | 335 | 209 268 | 342 734 | 608 1000 | 874 456 | 330
K7 | 280 | 133 213 | 266 679 | 532 945 798 532 | 385
<R.210 K8 358 | 190 624 | 456 890 | 722 1156 | 988 1422 | 1254 608 | 440
K9 569 | 380 835 646 1101 | 912 1367 | 1178 684 | 495
K10 514 | 304 780 570 1046 | 836 1312 | 1102 | 1578 | 1368 760 | 550
K1l 725 | 494 991 760 1257 | 1026 | 1523 | 1292 836 | 605
K12 670 | 418 936 | 684 1202 | 950 | 1468 | 1216 912 | 660
Ks | 552 | 409 744 | 600 1129 | 985 554 | 410
K6 | 470 | 297 662 | 489 1047 | 874 1432 | 1259 665 | 492
K7 | 388 | 187 580 | 379 964 | 764 1349 | 1149 775 | 575
SR-240 | K8 498 | 268 883 | 653 1267 | 1037 | 1652 | 1422 | 2037 | 1807 886 | 656
K9 800 | 542 1185 | 926 1569 | 1311 | 1954 | 1696 998 | 739
K10 718 | 431 1103 | 816 1488 | 1201 | 1872 | 1586 | 2257 | 1970 1108 | 821
K1l 1021 | 705 1406 | 1090 | 1791 | 1474 | 2176 | 1859 1219 | 903
K12 939 594 1323 | 979 1708 | 1363 | 2093 | 1748 1330 | 985
Ks | 903 | 675 1195 | 968 | 1779 | 1552 787 | 560
K6 | 790 | 519 1083 | 811 1667 | 1396 | 2252 | 1981 943 | 672
K7 | 679 | 361 972 | 654 | 1556 | 1238 | 2141 | 1823 1101 | 783
K8 860 | 497 | 1444 | 1081 | 2029 | 1666 | 2614 | 2252 | 3199 | 2836 1258 | 895
SrR-270 | K9 1332 | 923 1917 | 1509 | 2502 | 2094 | 3087 | 2678 1416 | 1007
K10 1220 | 767 1805 | 1352 | 2390 | 1937 | 2974 | 2521 | 3560 | 3107 1572 | 1119
K11 1693 | 1194 | 2278 | 1779 | 2862 | 2364 | 3448 | 2949 1730 | 1231
K12 1582 | 1037 | 2167 | 1623 | 2751 | 2207 | 3336 | 2792 1887 | 1342
Ks | 1097 | 729 1061 | 730
K6 | 935 | 494 1316 | 875 1273 | 876
K7 | 772 | 258 1153 | 639 | 1916 | 1402 1485 | 1022
SR-300 | K8 991 | 403 1754 | 1166 | 2517 | 1929 1697 | 1168
K9 1592 | 930 2355 | 1693 | 3118 | 2456 1909 | 1314
K10 1430 | 695 2193 | 1458 | 2956 | 2221 | 3719 | 2984 | 4482 | 3747 2122 | 1460
K1l 2030 | 1222 | 2793 | 1985 | 3556 | 2748 | 4319 | 3511 2334 | 1606
K12 1868 | 986 | 2631 | 1749 | 3394 | 2512 | 4157 | 3275 2546 | 1752
K5 | 1553 | 964 1702 | 1173
K6 | 1292 | 586 1863 | 1157 2043 | 1408
K7 | 1031 | 208 1602 | 779 2745 | 1922 2383 | 1642
K8 1341 | 401 2484 | 1544 | 3626 | 2686 2724 | 1877
SR-350 Mg 2224 | 1165 | 3336 | 2307 | 4508 | 3449 3064 | 2112
K10 1963 | 787 3105 | 1929 | 4247 | 3071 | 5390 | 4214 | 6532 | 5356 3405 | 2346
K1l 2844 | 1551 | 3986 | 2693 | 5129 | 3836 | 6271 | 4978 3745 | 2581
K12 2584 | 1172 | 3726 | 2314 | 4869 | 3457 | 6011 | 4599 2086 | 2816
K7 | 2028 | 869 2880 | 1837
K8 | 1736 | 411 2550 | 1225 3292 | 2100
K9 2259 | 768 3887 | 2396 3703 | 2362
K10 1967 | 311 3595 | 1939 | 5223 | 3567 4115 | 2624
K11 3303 | 1482 | 4931 | 3110 | 6559 | 4738 4526 | 2887
SR-a00 | K12 3012 | 1025 | 4640 | 2653 | 6268 | 4281 | 7895 | 5908 | 9523 | 7536 2938 | 3149
K13 4348 | 2195 | 5976 | 3823 | 7603 | 5450 | 9231 | 7078 5349 | 3412
K14 4057 | 1738 | 5685 | 3366 | 7312 | 4993 | 8940 | 6621 5761 | 3674
K15 3765 | 1281 | 5393 | 2909 | 7020 | 4536 | 8648 | 6164 6172 | 3937
K16 5101 | 2452 | 6728 | 4079 | 8356 | 5707 6584 | 4199

I8



www.mintn.cn

AATH

N R

MINTN TECH

10. %M R~FB® Dimensions

DA-32

DA/SR-300~400

2-G1/8”

24

4-M5

IEE#E/FRONT VIEW 71 & /SIDE VIEW T E/TOP VIEW
E
N

IR o
H
—/
==
15 o
o @
Q o]
H
F
[ ]
o ’ © ’
i
R
H
F
e @ o
H

SN2 R ~F 3R Dimensions

B4y : X/ Unittmm

125 | 140 A 160 | 190 K 210 | 240 | 270 | 300 K 350 | 400

A 110 122 147 168 186 212 262 268 301 390 458 534 538 602 718 782 920 940

46 65 71.5 83 95 103 | 108.5 | 121.5 | 142 | 1525 | 174 206 226 260 294 336 385 520
C 46 60 72 88 99.5 109 | 116.5 | 133 155 172 197 230 | 255 289 326 350 410 | 466
D 66 80 92 108 | 119.5 | 129 | 136.5 | 153 185 202 227 260 285 319 356 380 440 | 496
E 040 | 040 | 040 | ©O40 | ©40 | @40 | @40 | @40 | OS5 | OS5 | OS5 | @80 | ©O80 | Q80 | O80 | O80 | O80 | 80
F M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8
G 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30
H 50 80 80 80 80 80 80 80 [80/130|80/130|80/130| 130 130 130 130 130 130 130

E# R B Connection

SIREE R EBEREAL TR

Air connection NAMUR Bottom view ISO 5211/DIN 3337 Shaft top NAMUR
Y e 450 .
Q b2 /’L \ Double Double
P | ! c{G{ Square “p” Key Way S
[0) \(?—e?—'i— \ '
— i \“
- 2 5 L 7 7 G i
Port A LT / : e[|
oo
M N ~_ DS DD KEY DI H il
R |
¥R f/Standard A3%&/Options N
DA/SA-40~240 DA/SA-270~400 ARC-328 4 Except ARC-32 -

19

HE$#E R ~F 3R Connection

By : 2K/ Unitmm

M 32 32 32 32 32 32 32 32 32 32 32 32 32 32 45 45 45 45
N 24 24 24 24 24 24 24 24 24 24 24 24 24 24 40 40 40 40
() GIR" | Gl/4" | GlI/4" | Gl4" | Gl/A" | Gl/A4" | GlA" | GL/A" | Gl/A" | G1/4" | GlA4" | Gl/4" | Gl/4" | Gl/4" | GI12" | Gl2" | GI2" | G1/2"
P M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | Méx10 | Méx10 | Méx10 | Méx10
Q / F03 F03 F05 F05 F05 F05 F07 F07 F10 F10 / / / / Fl6 F16 F16
Q1 F03 F05 FO5 F07 F07 F07 F07 F10 F10 F12 F12 F14 Fl14 Fl6 F16 0215 F25 F25
R / M5x8 | M5x8 | M6x10 | M6x10 | M6x10 | M6x10 | M8x13 | M8x13 | M10x16 | M10x16 / / / / M20x25 | M20x25 | M20x25
R1 M5x6 | M6x9 | M6x9 | M8x13 | M8x13 | M8x13 | M8x13 | M10x16 | M10x16| M12x19 | M12x19 | M16x23 | M16x23 | M20x25 | M20x25 | M20x25 | M16x24" M16x24"
S 9x12 | 11x14 | 11x14 | 14x18 | 14x18 | 17x21 | 17x21 | 22x26 | 22x26 | 27x31 | 27x31 | 36x50 | 36x50 | 46x60 | 46x60 | 46x60 | 46x60 | 55x60
T 10 10 10 10 10 10 14 14 2 22 22 32 32 32 32 32 32 32
u 10.5 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12

*8AMEREAL, 8 screw holes

110



www.mintn.cn

BIEAMITRMER Sizing:Spring Return Actuators

EERETERET , BEBRTREBNRZEREN

30%-50%
fougn
(&I JFRESIRE=80N-m

LZ2/I5E=80 ( 1+30% ) =104N'm

SiRESI=5Bar

XFREB(ERI TR 0REE |, FAITLAEE!

SR140K7

%R
FE4TFE0°=308N'm
Z5{7F290°=247N'm
JEEEITFE90°=181N'm
WEEITFE0°=120N'm

FrERIE DB TRAIER.

xR

BERTRSRES NIRRT , FUTERBOBSAF

Y

MR TR0 | PR RIS .

BIEANITERBEGER I Spring mounting form for spring return actuators

5 Springs

@m@ \ @m@

\ / , \ /’/
7 Spnngs

@@é (R)
@r \@ / @r ) /

9 Spnngs

e% &%)
\%:ﬁ;\% Cg®/
11 Springs

11

OB, (O

\ FAEAY . /

\E?Q// ée%\:’,/
6 Springs

|'. / ( ; x]
&8 8@
8 Springs

10 Springs

%@ %@

12 Springs -

The suggested safety factor for spring return
actuator under normal working conditions is
30-50%

Example:

The torque needed by valve=80N.m

The torque consider safety
factor(1+30%)=104N-m

Air Supply=>5Bar

According to the table of spring return
actuators’ output,

we find out torque of SR140 K7 is:

Air stroke 0°=308N-m

Air stroke 90°=247N-m

Spring stroke 90°=181N-m

Spring stroke 0°=120N-m

All the output torque is large than we needed.
Attention

During the restoration,the spring return
actuators’ output will not be affected by the
inputing air from the port B.On the contrary , it
will help the restoration of springs.

R ERHTRRAYIGECITIIED | AISRAES TR [ J7E
FE. BTHXRARAHESE , FAIMETLE e
. BINEEMSECHITES

During selecting the spring return actuators ,we
can choose the more reasonable and more
economical actuators,if we know the differe nt
torque needed by the valve working at ope ning,
operating and closing.

Example:

The max torque needed by the butterfly
valve=104N.m

The torque after
opened(operating)104x30%=32N.m

Air Supply=>5Bar

We can select the SR125K11

output torque is:

Air stroke 0%136N.m>104N.m

Air stroke 90°=78N.m>32N.m

Spring stroke 90°=173N.m > 32N.m

Spring stroke 0°=115N.m > 104N.m

The above datas show the actuator’ s torqu e can
satisfy

the requirement of the butterfly valve

A

Butterfly vﬁ\lﬁ e 100% fan
. \/ BB ARG =104N-m
p|ugﬁﬁva§|ﬁ &G 0% FTFEH5E104x30%=32N-m
80% SiFEA=5Bar

Ball velve BATATLAISR SR125 K11

80% ZS547F20°=136N-m>104N-m
ZE(TF290°=78N-m>32N-m
WEE(TFRE90°=173N'-m>32N'm
BEE(TF20°=115N-m>104N-m

LA EBE SR LUB EIZE RAIIEE S .

40%

! >
FFfE Open 0°  i=4T Operating 90°  [EEE Close 90°

T B RERNTERA RIS EhIR | IR R B R AR (HTERIELSFISIRED ) .
B EEEEANMXEUATE]  BELEBEXHNTIR. RE2RHFSH.

Note Make sure that the torque necessary to operate the valve is compatible with the actuator torque (it depends on both
actuator type and air supply).
Please note that the requested torque depends not only on the valve,but on the working conditions and the safety
margins of the plant in question,too.

B EX Weight Table
BlSModel 32 40 52 63 75 83 92 105 125
E= (DA)| 0.7kg 1kg 1.4kg 2kg 2.7kg 3.5kg 4.7kg 5.7kg 8.1kg
BE (SR) - 1.1kg 1.5kg 2.1kg 2.9kg 4kg 54kg 7.0kg 10.5kg
BlSModel | 140 160 190 210 240 270 300 350 400
BE& (DA)| 12.3kg 20kg 33kg 37.8 kg 56kg 80kg 100.6 kg | 160kg 197.3kg
B2 (SR) | 16kg 25.4kg 39g 47.4kg | 69.2kg | 102.2kg | 128.2kg | 209.2kg 243kg

71 SRAL2FME 2, EENSER
FESE Air Consumption

FrEARFRFIKEIRFRAIr Volume Opening&Closing UnitL
fl=2Model | Air volume opening |Air volume closing =2 Model | Air volume opening | Air volume closing
FrEARR (A7) KEAFR (F) FrEAFRR () KEAFR (F)

32 0.04 0.05 140 2.5 2.2

40 0.08 0.11 160 3.7 3.2

52 0.12 0.16 190 5.9 54

63 0.21 0.23 210 7.5 7.5

75 0.3 0.34 240 11 9

83 043 0.47 270 17 14

92 0.64 0.73 300 23.8 29.7

105 0.95 0.88 350 35.1 46.3

125 1.6 14 400 52.6 56

FESEIURTHSED. FXITRE. MEREHERE , tTENT
Tt/ =SEIAFR ( FFRARFR+ XA ) x|BESES (Kpa ) +101.3 pIREY/ S
101.3
Air consumption rest with Air Supply.Air volume and Action cycle times,expressions:

L/Min=Air volume(Air volume Opening+Air volume closing)x|Air Supply(Kpa)+101.3 |xAction cycle times/min
101.3

112




www.mintn.cn

BEFPIREEMEEEE

provide customers with a more comprehensive choice

EBREML PACE=R4 N CE=R A Ny
hizz g ik
standard hard colorful hard natural color b h finished
anodized anodized hard anodized urs inishe

BB ZHMEI B IEMESIE/T]/Any other Custom color pls contact with us

Company Profile
LE)ETT

ATHRAMKBERAS, LFMIERMNTREEX KPR
14665, BAREMLEERG, RESHEFRIFR. &
o HET AT ARERE

AT IHBINMERAIRITER, BT/ RGN SE
EHRITMT, EBREFTENTHRER. SIEER. S
R, [EERE. SRS, TIZEATHREE. B
B, =5, RE. LT, ®&. BIEFTL FRITHERS
MER, FEEUVRBERFANGIERR, DE#NTZ
BA, SBN~RRE, NWERABHNEERSHRERNEE
515,

NERFHNTNEINEREE . BENT. BIEEREN
SEL &4, BB TEEHDONEMN. SRR, 15
0. FEREEARIN .. R, RIS SRMNES, Fhmid
T1S09001-2015REBBERIAIE. BA SRS IRILESE
FBOMEH, HhRPEHRIIM, SHAHFEEFEI, FF
20195 BB IEX “MEM" FERS,

ATFR ISR, BERK NhVES, BEERNG

RABRSFRAN T FMEIEE, FUETIESERIIT
W AR

“MINTN” FJEESUTESTLANRZI T A A

Zhejiang Mintn Technology Co.,Ltd. is located in Wenzhou City
of China adjoining Longwan International Airport Station. We are
dedicating in offering R&D and manufacturing services of
pneumatic control valves. We also provide OEM services.

Our products mainly include penumatic angle seat valve,
pneumatic filing valve, pneumatic shuttle valve, pneumatic ball
valve and pneumatic butterfly valve. These products are widely
applied in such fields as Textile printing & Dyeing, Foam plastic
industry, Pharmaceuticals, Chemicals, Disinfection and Water
treatment. All of our products have been widely exported to
many countries around the world.

All of our products are made under 1SO9001:2015—certified
processes. Our company has production lines of advanced
stainless steel precision casting, precision machining, valve
assembly and testing. We have a strict QC team equipped with
German imported spectrograph, CMM, surface roughness
instrument, hardness tester, stretch tester and other professional
testing equipments. Since the establishment of the company, it
has obtained 9 patents, including 1 invention patent and 8 utility
model patents. In 2019, we are awarded the honorary title of
'Eagle Enterprise".

Since establishment, MINTN sticks to theory of 'Science&
Technology as Priority, Quality as Basis' and devotes to building
up a model enterprise in pneumatic valves industry.

B A ER RS RRARTT SR -

&;¥8 Molding & 75 Pharmaceutical LT Chemical engineering
@128 Rubber processing @ L1 Textile dyeing &£k EE  Biological fermentation
®Z54>  Air separation &35%  Automobile S EREl  Food & beverage
&%  Industrial laundry @ E2E Filling operation &i#BE  Ulrasonic

@K Sterilization IR Environmental &S %% Pneumatic conveying

114



